,‘ Replaces Toro Greensmaster 3250-D

ﬁn Parts
Traction Unit - Model 04383 & 04384

" Leak Detector - Model 04497

% 10 1l
@ 40

54

41

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




=4 Replaces Toro Greensmaster 3250-D

Hﬁn Parts
Traction Unit - Model 04383 & 04384

" Leak Detector - Model 04497

Item R&R OEM Qty Price Order
No Part No. Part No. Description Req Each Quantity

Electrical, Gauges & Controls

10 R83-2280 83-2280 Timer - Delay 1 75.50
11 R80-9330 80-9330 Alarm - Audio 1 60.30
Hydraulics
20 R354-120 354-120 Hydraulic Fitting - 90 Deg 2 17.50
354-121, . .
21 R354-121 92-1665 Fitting-Straight 2 11.50
Other Parts Available
30 R2412-41 2412-41 Clamp 1 5.05
31 R237-79 237-79 O-Ring 1 1.60
32 R93-7498 93-7498 Plug-Qil 1 14.95
24-9-BD,
3-1032,
33 R3256-22 3256-1, Washer - Flat 1/4 Yellow 6 0.13
3256-22, :
93-0954,
93-0989
33 R33094-00 33034-00, Washer - Flat - 8mm Hardened 6 0.13
93-5914
3256-1,
3256-22,
33 R453023 3256.72, Washer - Flat 1/4 6 0.13
33094-00
01-166-0070,
01-166-0410,
23-9-GD,
33 R3253-3 24-7150, Washer - Lock 1/4 6 0.12
3253-3,
3256-1,
352-167

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




=4 Replaces Toro Greensmaster 3250-D

Hﬁn Parts
Traction Unit - Model 04383 & 04384

" Leak Detector - Model 04497

Item R&R OEM Qty Price Order
No Part No. Part No. Description Req Each Quantity

34

237-80,

R237-80 20070

O-Ring 1 1.95

35

01-188-0420,
22-11-AJD,
3217-5,
33024-00

R443102 Nut - 1/4-20 Yellow Zinc 4 0.23

35

R33024-00 33024-00 Locknut - 8mm x 1.25 4 0.70

36

33115-025,

R33115-025 ;oo

Bolt - Hex HD M10-1.5 x 25 2 0.97

37

R93-4637 93-4637 Washer - Flat 2 1.05

38

R240-11 240-11 Bushing - Rubber - Flanged 2 2.60

39

3256-23,
R310266 3256-3, Washer - Flat 5/16 USS 2 0.24
3556-3

39

01-166-0400,
24-10-BD,
24-9-AD,
32-9650,
3256-2,
3256-23,
3256-3,
3256-67,
3290-217,
3556-3,
4-2390,
7-0152

R453009 Washer - Flat 5/16 SAE 2 0.14

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




=4 Replaces Toro Greensmaster 3250-D

ﬂﬁn Parts
Traction Unit - Model 04383 & 04384

" Leak Detector - Model 04497

Item R&R OEM Qty Price Order
No Part No. Part No. Description Req Each Quantity

01-166-0100,
01-166-0120,
01-166-0270,
01-166-0500,
01-166-0600,
01-166-0620,
132-4593,
2356-3,
237-12,
24-10-AD,
24-11-AD,
24-11-BD,

39 R453011 24-12-AD, Washer - Flat 3/8 SAE Y/Zinc 2 0.12
24-12-BD,
30-9310,
32-8190,
3256-24,
3256-3,
3256-36,
3256-4,
453011,
47-9950,
48-9220,
513458,
7-0052

32127-20,

40 R3296-12 3296-12

Nut - 10-32 Nylon Lock 1 0.58

41 R3274-39  3274-39 Screw - Button HD Soc Cap 1 4.05

2210-87,
2412-36,
42 R2412-36 31-9140, Clamp - Hose 1/2 4 2.75
93-5818,
99-0772

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




